[* func_add.c */
#include <stdio.h>

int Add(int a, int b);

int Input(void);

void Result_Print(int val);
void Intro(void);

int main(void)

{
inta, b;
int result;
Intro(); Il A|&HS el
a=Input(); II#= 88 g5
b=Input(); IN#= 88 g3
result = Add(a, b); HAM S =2,
Result_Print(result); /Z1}E &AE5| =2
return O;

}

int Add(int i, int j)

{
return i+j;

} |

int Input(void)

L
int input;
scanf(""%d", &input);
return input;

}

void Result_Print(int val)

{

printf("G A0 CHSE Z1F @ %d \n", val);
printf("****** END *kkikkkikik \n")-



¥

void Intro(void)

{
Printf(" s START *x% \n");

printf(" 74| 4 @ :);



/* glo_val.c */
#include <stdio.h>

int val=0; /[ TAH val
void fct(void);

int main(void)

{
val=10;
printf("val : %d \n", val);
fet();
printf("val : %d \n", val);
return O;
¥
void fct(void)
{
int val=20;
val++;



/* local_val.c */
#include <stdio.h>

int main(void)

{
int val=0;
{
int val=0;
val+=10;

printf("ife| X[ EH== val : %d \n", val);

¥
printf("mainQ| X|< == val : %d \n", val);

return O;



[* recursive_basic.c */
#include <stdio.h>

void Recursive(int n)

{
printf("Recursive Call! \n");
if(n==1)

return;

Recursive(n-1);

}

int main(void)

{
int a=2;
Recursive(a);
return O;



[* strlen.c */

#include <stdio.h>
#include <string.h>

int main(void)

{
char str[100];

while(1){

fgets(str, sizeof(str), stdin);

printf("'Length of string : %d \n", strlen(str));
¥

return O;



[* strcpy.c */

#include <stdio.h>
#include <string.h>

int main(void)

{
char str1[20]="Samuel P. Harbison";

char str2[20];
printf ("Original String : %s\n", strl);

strcpy(str2, strl);
printf ("New String : %s\n", str2);

return O;



[* strcat.c */

#include <stdio.h>
#include <string.h>

int main(void)

{
char str1[30]="Your favorite language is *; // null X} 3t 272X}
char str2[10];

fputs("“"What is your favorite computer lanaguage ? : ", stdout);
fgets(str2, sizeof(str2), stdin);

strcat(strl, str2);
printf("String : %s \n", strl);
return O;



[* strcmp.c */

#include <stdio.h>
#include <string.h>

char* str1="ABC";
char* str2="ABD";

int main (void)

{

int result;

result=strcmp(strl, str2);
if(result>0)

puts("strlO| str2 EC} SL|C} ");
else if(result<0)

puts("str27} strl2C} S L|CH");
else

puts("F= ZXE0| H=5| ZELCHY);

return O;



